Ballistisches Pendel

Diabolo 4.5mm mp:=0.52 gm
.45 ACP Mycp:=12 gm
Masse Holzklotz my,:=0.1 kg My =10 kg
Pendellange lp:i=1m
. m
Erdbeschleunigung 9=9.807 —
S
gemessene Auslenkung p:=15 deg
Geschossmassen M i=mp Mg = Mgy
m
Geschwindigkeiten Vg = ( K. \/2 +g-lp+(1—cos(yp)) =158.029 m
Mgy s
m
vc2-=( K2 £1]+y/2-gIp+ (1—cos (p)) =818.318 =
Mgy s
m,
Geschossenergie E,:= Gl cvg,” =6.493 J
m,
Eyi=—22 .y, =3348.221 J

Forméanderungsarbeit Wiy i=—e———— v, ” =6.459 J
2 mg+my

1 Mpegem
Wpgi=—e—2 2 0,2 =(3.345-10%) J
2 mgytmy,

potentielle Energie U:=E,—W;,=0.034 J

E,—Wp,
Up,i=——1.100=0.52

F1

E,—W

Upyi=——12.100=0.1
Wiy



